P o

RBENT=Frvo

¢ 3IMehz=R

B-200 =

#*CEXTm  *CEXYRZ

W <EE RYE

tL—Y3>EYF15

X %B-204. 205D
W% RYE xB-204 71 B-205 2848 PC.D. : 120°

M TS
“ L =z
o °
IS
[
I O ¢| o w
| 8| « “J M
G H
= = Q%
—=T 1
{1
E %Y
W
B

HREDERDIERAT I I—RF vy D
iR 2IARI R EED R

PEAFANE:!

BIE AR RiFHitEEd%

XIRIFTEREY TR 3—ZHLBEEDHDTY,
ML RTHRIEERRERTN,

IR %N kN
S
[l Thelk

T5EE : 3 5 RAFFIREHREUCR T,

L

=]
o
o

—

—

B-2041 1 —F—

t B-205

~—]

0 1000 2000 3000 4000 5000 6000
[EIERRE MEFEERE : min

120°EyF— 3K xRO—FvhORUIEFRIMITY,

Q R

R

7000 8000

A B (I-(|36) D E F mgx. m?n. H J max. M N P m%x. min. max. min. S
B-204 |110| 59| 85| 706|3M10| 26| 35 |- 65|175[12| 38| M32x15|24 | 495/14|11.25| 6.75|23 [20.3 | 23| 2 |10 |155]4 - -
B-205 |135| 60|110| 826/3M10| 33| 1 |- 9 |20 |12|45| M4A0x15|26| b4 |14|19.75| 7.75|265|238 | 23| 2 |10 | 154 = =
B-206 | 169| 81 (140|1048|6-M10| 45|11 |- 1 |19 |20|60 | MBbx2 |29| 66 |20(22.75| 92532 [29.25| 26| 2 |12 16| 5| M6X10 (116
B-208 |210| 91|170|1334|6-M12| 52/14.5 |- 15|205/30| 66 | MB0x2 |39 | 95 |25|29.75(14.75| 38.7 |35 35| 2 |14 | 20| 5|M6Xx12|150
B-210 | 254|100 (220 |1714|6-M16| 75| 85 |-105(25 |45|94 | M8bx2 |43|110 |30(33.75|1425|51 |466 | 40| 2 |16 | 22/5|M8x15{190
B-212 |304|110|220 |1714|6-M16| 91| 8 |15 |28 [50|108|M100x2 |51 (111 |30|45.75(15.75|61.3|56 50| 2 |21 23| 6 | M8X15 [190
B-215 | 381|147 ]300 |235 |6-M20|100|23 0 [35 |BO[120|M110x2 |61 (135 |43(54.75|2025|70 |64.7 | 50| 2 |255| 31| 6 [M10x16/260

¥FAREOHmEEF. RAEICLDET,

KAV REFRERE R MIEE.

W tTiER BIBE coEe/ mEamdEEDyY DR a—EERUCSE. XEFER/ /TS ERRIERERTERNE S,
tHE  EEIE

g AR FEIE
BS mm

BER XEER
mm
Max.  Min.

j3-ANI-7 (BR) F509vAND-0 EFBRAAN B

MiTE(E#)
mm

EE{TE
mm

Al
A

BILE)
]IS

BFRAURS BABLERN
kN(kgf)

kN(kgf)

e B8 (B87)-1)
5 B (RGERN)

& (81
Kg

iz}
kg-m?

BEE-XYM mavyvy
B Emwm nos

wmas

LERCIEN ge)\-kva- BEUINa-

RMas

} ! FO933H | 2.80 (286)] HBOANT [SJO4N1
B-205 33 |135 12 54 10 6.7 | 0018 | FO933H |343(35.0)| HBOANT |SJO5NI
B-206 45 169 16 55 12 11.9 | 0058 |S1246 |28 (288) HBOBB1 |SJOBL1A
B-208 52 |210 13 74 16 223 | 0170 |S1552 |265 (27 )| HBO8A1 |SJO8B1
B-210 75 |254 31 88 19 345 | 0315 |S1875 |270(275) HB10A1 |[SJ10B1
B-212 91 304 34| 106 23 553 | 0738 |S2091 |270(275) HB12N1|SJ12N1
B-215| 100 |381 50| 106 23 1160 | 220 F2511H330(337)] HB15N1|SJ15N1






